S2

Multi-digit Subtraction Answer Key

Line up the digits vertically and find the difference.

1) 73,062 - 60,495

73,062
- 60,495

12,567

4) 550 - 458
550
- 458

92

6) 6,328 — 3,597
6,328
- 3,597

2,731

10) 12,571 -946
12,571
- 946

2) 2,401 - 587 3) 94916-7,616
2,401 94,916

- 587 - 7,616
1,814 87,300

5) 50,661 - 1,093 7) 3,162 - 860
50,661 3,162
- 1,093 - 860
49,568 2,302

8) 870 - 364 9) 45,830 - 771
870 45,830
- 364 - 771
506 45,059

11) 9,740-6,132 12) 80,214 -71,365

11,625

9,740 80,214
- 6,132 - 71,365
3,608 8,849
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